
6901-002293 00

Additional TV Hardware for Select Samsung® TVs

 IMPORTANT: Do not use 
washers with the M8x30 mm 
screws.

Addendum to: Parts and Hardware for STEP 1 -- PAGE 3
STEP 1-3 Attach TV Bracket -- PAGE 5

1-3 Attach TV Bracket

M8x30 mm

TV Screw  x4

b    Spacer on bottom with screw

M8x30 mm

a    Spacer on top with screw

M8x30 mm

Samsung® 
Wall Mount 
Adapter

Samsung® 
Wall Mount 
Adapter

©2013 Milestone AV Technologies, a Duchossois Group Company. All rights reserved. Sanus is a division of Milestone. 
Samsung is a registered trademark of Samsung Electronics Co., Ltd. All rights reserved.


